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104 AFRNIRBERBRIE(ZD2) R &K TRERZR — % —fREtARIE FEHERE H30.11.7] H31.3.15] 14,511,000] 12,800,000 3| RAEHIFRfi#5 12,743,000
105 HEMAARRNSHELS (4315446 |TEHEHMARM |EETEE 54 —fREETE FIKEERH H30.11.7] H31.1.31 4511,000] 4,440,000 6 | 2% 1& il R {fi #% 4,024,000
=) A
106 RECELEREHEREBSETIS RETBKRETER |[FEERER |ER — Bt KRI=E EEKIFIE | H30.11.14 H31.3.8 6,202,000] 6,100,000 12| S B I BR fifi4% 5,416,000
B
107 KREEZARFERELS RETBKREKRE | REHER —h& HEIS #MA/KITFME | H30.11.14] H31.3.20] 11,197,000] 11,000,000 4| 5 1Bl BR i 459,780,000
108 FERERBENEIS RENLENEH | REHER — & HEIS BRIER H30.11.14] H31.2.28] 21,918,000 21,900,000 5| & A& I R {fi#5 19,305,000
109 WRRHESIETSE ES N TEGE I ER N R R3] WEIS [C =D H30.11.14] H31.1.18 4,965,000] 4,850,000 8| &% 1& il FR {fi #% 4,307,000
o A/ NRAERMSH(ZD1)IE REMEFHEET |[TFKER R3] — T RITE(CT [FU—mEER | H30.11.14 H31.3.8 3,593,000] 3,580,000 12| S B I BE fifi4% 3,116,000
7K:E)
» T/R2E5HRERBRBRISE REMUIET TRERZR 54 —fREtARIE HESIHE | H30.11.21 H31.3.8 9,242,000] 8,096,000 12| S K 1| BE fifi 458,094,000
2 MEHBGARISRELE (2-15-10-1 |RETBANER [EEEFEHR 23 —fREETE BARETFEE | H30.11.28] H31.2.15 6,763,000] 6,480,000 6 | S {& I R {fi#56,054,0001
5-10-28) E1371
3 EEEREIE(FND21) REHMERET L+ | TKEZE 54 AEERARE |MEKIEE | H30.11.28) H31.1.11 1,526,000 1,500,000 6 | R AK I FR {Hi#% 1,345,000
F 1 Is
4 FEEREIE(FND22) REMUIET TKERE 54 AEEFARE |ALEBEX H30.11.28 H31.3.1 1,203,000 1,160,000 6| &% 1& i FR {fi 4% 1,061,000
I=
5 FAKMEHRE(ZND10)IE ZERMLBEETAR | TKER R3] HHEETIS g R42KE | H30.11.28| H30.12.28 5,146,000] 5,000,000 3| 1K il FR {fi 4% 4,6 31,0001
P
6 HEEREIE(FMD23) REMLBENEHE | TFKER R3] AEEFARE [ASRKE H30.11.30| H31.1.25 1,570,000 1,390,000 6 | 2% 1K il FR {fi 4% 1,384,000
I=E
. TR0 K ;114% MEBILERRIER | LRRTILHEAT EIL [EAREER —h& — Bt KRI=E BRIER H30.125] H31.3.25] 10,174,000] 9,970,000 2| & 1& i FR {fi #% 8,906,000
KEEBET &
HEEREIE(FND24) R IRIEET TKERE R3] AERGAERE [LEBRRIS=] H30.127 H31.3.8 1,230,000 1,200,000 6 | 2% 1& il FR {fi 4% 1,085,000
118 TS ;gﬁ‘/ﬁ(ﬁ)iﬁéﬁ
F
HEBERESHREBRRBRISE ZRHIRIET T RERR 54 — Bt ARIE W BE% H30.12.12| H31.3.22 8,760,000] 8,500,000 12| S B I BE fifi4% 7,669,000
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120 RIS HRERRREIE EX ESN) EIREHER — —fREIARIE |EXRERHE H30.12.12 H31.3.22[ 14,916,000| 13,120,000 3| S IE PR H#& 13,115,000/
o1 ?ﬁ%?iﬁﬁﬁ%ﬁﬁﬁ%%ﬁ%l?%il ZEMIIETHA |RRIRER — & —REBETE [THEHRW H30.12.19] H31.3.20[ 20,352,000[ 20,000,000 4| 18 %I BR fifi4% 18,326,000/
122 EDEZROMGEKRTIERBZELS ﬁﬁﬁﬂaxmﬁé ATENER g2 ?g%ﬁﬁ&ﬁ ek IS H31.1.11| H31.327 9,254,000 8,900,000 8| B {E I BR i 4% 8,323,000
123 MENREBERHELE RRMERETHA |Hhig iR ELER FEE2 —REBETE (WEBIHEE H31.1.11| H31.325[ 1,772,000 1,740,000 6 | E= & HIBR{Hi#% 1,581,000
124 gﬁg)ﬁﬁﬁﬁﬁﬁﬁﬁ%%ﬁl$<?ﬂi i%?ﬁ?ﬂiﬂamﬂh EHIRER —f& —REEIE [AKERW H31.1.11] H31520[ 20,187,000 20,000,000 3| RAEHIFR @45 18,171,000/
125 (E%?g;iﬂi RESMMOVLRERMBIE (REMEASH | TRERR — —HERTE FEHEHRMW H31.1.16] H31.325]  9,390,000] 9,300,000 3| &= {E I BR i 4% 8,206,000
126 Eﬁ)? 3815 HA/NGANKE |ZEHLEEET | EREZHR g2 —fREIARIE |AEREER H31.1.16] H31.3.20 2,949,000 2,730,000 12| &= {E %I BR1fi4% 2,559,000
127 ;Féﬁgﬁi %3835 EILIEANIKE gimmxmaa IAREHRR F=E2 —fEtAIE |AFBLE H31.1.16] H31.3.20[ 3,094,000 3,000,000 12| &= {E %I PR fi4% 2,685,000
128 ;ggig 3845 B A)IEAIK E{%WEKW‘F/J\ EREHER FEE2 —fREARIE |(BEKIHE H31.1.16] H31.320 3,526,000 3,450,000 12| &= {E I BR 4% 3,060,000
129 ;ggg%‘élﬁgw% FHTI05HE Rk HEET IAREHRR g2 —fEAIE |HWEPER H31.1.16] H31.320[ 1,477,000 1,380,000 12| E={E HI PR 4% 1,285,000
130 ;Féﬁgﬁi %3865 IMEMRERKE |TEMLEEET |EREHR FEE2 —fREARIE |AREER H31.1.16] H31.320[ 1,694,000 1,600,000 12| B {E HI PR 1Hi4% 1,474,000
131 ;Féﬁgﬁi 3875 EAREBRKE |REMLEIER [TREHRE FEE2 —fREIARIE |ARIER H31.1.16] H31.320 2,878,000 2,800,000 12| &= {E %l BRfi4% 2,505,000
F-RERMNEEE ERERRKE |REMRERAT IAREHRR FE2 —fREIAIE |EXELE H31.1.16] H31.3.15[ 2,879,000 2,506,000 12| &= {E %I R 4% 2,506,000
132(pAp TH(ZM3)
» BAEEFRENEELE i%?ﬁﬂ:‘lxm%z ATESR R —fREARIE |(BEKIHE H31.1.18] H31.3.26 9,169,000 8,300,000 12| &= {E %I PR 4% 8,007,000
134 ;gﬁgﬁi 3885 FRHBERKE |REMLEIIFR [TREHRE FE2 —MWERTE |3k H31.1.18] H31.320] 3,321,000 3,200,000 12| &= {E I BRfi4% 2,890,000
135 ?é-i@ﬁﬁﬁ%% WERHEKEWR (RETLBRAE |TRERER g2 —fREARIE |ARIER H31.1.18] H31.3.15[ 3,323,000 3,300,000 12| &= {E %I BR 4% 2,879,000
136 ERERHRIN—RBIE RENERETHA [BERFER R ?g%ﬁﬁ&ﬁﬁ (;)’77917‘1\ H31.1.18] H31.326] 4,141,000 4,100,000 8| B {E I BR i 4% 3,699,000
137 ;ngié 3805 FETIEANIK |REmIERET EREHER — —fREAIE |(HWEPER H31.1.23] H31.320[ 12,202,000 11,200,000 4| E= R IR fifi#% 10,680,000
138 Efé?? %3825 WFIANKE |ZEMLEEET | EREHR FEE2 —fREIARIE |AEREER H31.1.23] H31.320[ 8,404,000 7,780,000 12| &= {E %I BR 4% 7,335,000
MABAZREKER(ZN4)IE TRTRFBET | T/KER —fi% —REIARTE |EESEHE H31.1.23| H31.3.28| 35,365,000 34,900,000 3| S IE PR ##£31,223,000F
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140 HMAEARRERERIE(ZD3I) TRMEARET [T KREHRR R —fREIAIE |EXELE H31.1.25| H31.322 3,461,000 3,012,000 12| &= {E HI PR #i4% 3,012,000
» A/ NIRKERER(ZED2) TE TRTRFBEET | T/KER — —MREKRIT=E FHEHRMB H31.1.25] H31.327| 77,626,000| 74,200,000 21K HI R #i#569,023,000F
142 MHBERREKER(ZD5)IE TRTRFBEET | T/KER — —MREKRIT=E FEHEHRM H31.1.30] H31.328] 34,221,000] 34,000,000 3 [ & 18 Il BR i #%:30,209,000F4
143 ERSAREEERIRIE LR T KIFHT EREHER R —fREIARIE |AEREER H31.2.8] H31.3.22]  2,153,000] 2,080,000 12| B {E HI PR fi4% 1,874,000
144 TRDMERCE R RERIEIE (BER) f\?;?ﬁf%m fth7 |BEREER FEE2 BESRIE ig;&;%f H31.2.8] H31.3.26]  1567,000] 1,500,000 5| = {E I BR i 4% 1,396,000
145 EIhEREESABRMLTE f\fb@?ﬁw FESITE ES g2 BESRIE E:&E[S‘égﬁ%i H31.2.8] H31.3.26]  2,066,000] 1,930,000 5| = {& I BR{i4% 1,877,000
146 RN ERGHB R RS T35 () f\?;?ﬁf%w ftho | BHE MR g2 ?g%ﬁi_ﬁ&‘ﬁ ek IS H31.2.15| H31.3.26 2,824,000 2,800,000 8| B= {E I PR fi#% 2,522,000
EHILERBRI—RIELSE RRMILHETRL [BTEHRR FEE2 MEERAERE (WRERITE H31.2.22| H31.325[ 1,635,000 1,600,000 8| = fE I BRfi#% 1,464,000
147 P I% WREEEM
148 ;Eﬁsoﬁﬁzwm}iﬁﬁ%mﬁiﬁﬁlﬂl §E$1EKETJ:+ EHEHR FE2 —RERTE [WEKIHE H31.2.27| H31.3.25]  1,496,000] 1,480,000 12 [ S AR I PR 1,299,000
149 FERI0FEKE/ 2R/ RERKEERALISE §E$1EIKBT‘F+ EHEHR E4 —fREtAIE |AFKHLE H31.2.27| H31.325[ 1,514,000 1,500,000 12| &= & HIPR1fi#% 1,314,000
150 FERI0FEK2/ 2R K ERIATSE i%ﬁﬂaj&m%z EHEHR FE2 —fEtAIE |AFKBLE H31.2.27| H31.325[ 2,148,000 2,100,000 12| &= {E HI PR 145 1,857,000
151 FR0EK12/T2 L AR MK EEFIBIE i%?ﬁr&ﬁﬁmrm EHEHR g2 —fREIARIE |RARIER H31.2.27| H31.325[ 1,696,000 1,670,000 12| &= & HIPRfi#% 1,457,000
152 FERIOEXKI/ A BRMKEFRALIE |REMAKRITRE |RHERFE FE2 —fREARIE |(BEKIHE H31.2.27| H31.3.25 747,000 740,000 12 [ S K I R {fi#5642,000F
153 ;E’isoﬁﬁéw/nmﬂaﬁ;ﬁéiﬁﬁi?@lﬂl TRNLENTR [EHRBHER FEE2 —fREARIE |EXELE H31.227| H31.3.25 858,000 832,000 12 [ 1K I AR i 4% 736,000
FERI0EXK /2B R MK ERIATE |REMLHEITRL [RHEREE g2 —MWERTE |3k H31.2.27| H31.3.25 901,000 900,000 12 [ &K I R {45 778,000
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